HERY: (P iR R

xyfJASON

S NEET B IoE L

!
Y1, Y& HEEX — 3—2 = const <= (3—2) =0 < yiyh, —py; =0
1 1

- HERH z = f(z,y) 7E (20, yo) AP 7% AEFA
flz,y) — f(zo,v0) — fi(zo,90)(x — z0) — fi(x0,%0) (¥ — yo)

(z,y)l—i}(go,yo) \/(w “20)2 + (y — 0)? =0
- AT AR AR bR 5 — EEAR PR IR B — AR FRANEAE
z = p(t)
'ﬁ§@%%Lm§ﬁﬁﬁ‘{yMﬂﬁﬁ,LL—ﬁwaww¢ﬂD%ﬂﬁﬁﬁ:
z = w(t)

{' (@), 4/ (1), w' (1)}

i DAL { G0 0 LR Plens) DIRDY:

{8(F,G) a(F,G) a(F,G)}
Ay, 2) " O(zx)  B(z,y)
(P T PI-F- s ) B SRR AT LR R 25 2 it R )

. i&qzﬁ b EEjj‘?ﬂjf F(LE,y, Z) =0 éﬁl‘ﬂ , X J:—‘z';]—:_'; P(:B,y, Z) 5&5"3‘72@%79

for o or)
0r’ Oy’ 0z
2oR: F(z,y,2,) fE P il !
NG &
ggzﬂmma+ﬂamﬁ

BB = f(z,y) 15 P SSHIBBIE grad z = {3, &L L IFRS L f(z,y) = C 15 P MR 7

WA u = f(e,9,2) TE P OSHIBEEE grad u = {3, 5L, &L L WRUF RS (T f(z,y,2) = C TE P 51
6L 7

. Hessian #i[FIEE < /ME:

Hessian 4 10E€ <= WKRE:

Hessian i NE <= FRRIE:



10.
11.

12.

13.

14.
15.

16.

Hessian fifEEIEE . PIE — PHE.
TA WA e R M TR AR5 1 — A — F ALY
BRAA bR o AL NYARFR AV = p? sinp dp dp db,
SR LA B EAAR AT AR TR R SR T ol @ = DoV,

B -

e

g B -

M p(z,y,2)dV

grad f(z,y,2) = —1+ —f + afk

dy o

j k
o 2

div F(z,y,z) = a—m+a—y+5;
i
= 0
rot F(z,y,2) = | 57
P

Q R

IERSEAR G T2, al DA e B DA% 3O 8 I ) T 55 S SO IE I o

R

BRSPS AR, ASRE a3 AT S ) 0 5 5 Wi S

2B B SGE AT R A SR H R

bR

BURIT AL s

CRE BT fo) MR EE A, i S(@) =

J¥.3%

A



